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The figures in the margin indicate
Sfull marks for the questions.
Answer either in English or in Assamese.

1. Answer the following as directed :
1x10=10
oot Wil e o SRpifR T faan
() How many weeks of prior statutory
notice is required to be given to employer
or workmen before a strike or lockout ?
(Choose the correct option)
4315 A I S90S RSt IRt s vseren
SERIGESACIDISIEIRSIEEE i B tea
BTG 2 (3% Tesch! 15 Tfevear)
i) Two weeks (@3’{@?&3)
(ii) Three weeks (fof7 seireg)
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(b)

()

(d)

(i) Five weeks (45 7aizg)
(iv) Six weeks (2 F2iz9)

In which year was All India Trade Union
Congress (AITUC) formed ?

(Choose the correct answer)

IS &5 w781 (AITUC) (i 5% 515
91 (2feE 2 (&% Tewo! A5 Blaeay)
i) 1919 (3555 bo)
(i) 1920 (530 bw)
(i) 1921 (5535 577®)
(iv) 1922 (5533 59)

Which of the following is not a
characteristic of trade union ?

(Choose the correct answer)

O (<PICH! S AREE (3R e

(8% Cews! A5 Blensar)
(i)  Voluntary Association (¥R 77[)
(i) Common Goal (N2 =72)
(@) Individual Actions (e S

(v) Intermediary (F4gorIsT)

Which of the following dispute settlers
cannot make a binding decision ?

(Choose the correct answer)
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()

(g)

SoT (O] R [Nooi RIS e AroETs Prai®
&9 (IS 2 (u% BGICo! Jib Tlerean)

(i) Arbitrator (YEFISI ITF)

(i) Adjudicator (Bos)

(i) Industrial Tribunal Member
(Trwifoie KoRiems 7o)

(iv) Conciliator (FSHARFIN)

Where is. International Labour

Organisation (ILO) headquarters
located ?

SIERIE I ¥ Ma5 (ILO)-= =) FRfeTg 9
SRS ?
Who was the founder of Bombay Mill

Hands Association ?
(Choose the correct answer)

‘@I [E 2er iR -3 dfsvies @
oI ¢ (&% TGOl > Ble1esy)

() V.V.Giri (fe. fe. faf9)
(ii) Bal Gangadhar Tilak
(I 2504 To=1)

(i) N. M. Lokhande (9. 9. (&<0e)

(iv) None of the above (\€#7] «bIS 737)

Which of the following has adopted the

principle of fair wages in India ?
(Choose the correct answer)
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(b)

()

(d)

(o)

Discuss in brief the major problems
faced by trade unions in India.

RO S Fqrary g ae aﬁq;ﬁ;q
SRR BT S5 <51 |

Why is collective bargaining considered
to be the best approach to the
maintenance of industrial harmony ?

SIEIE AENS TS A2 T vy
e 212 febita frafbe w41 272

Write a note on labour welfare facilities
in Indian factory.

SN FIRRAMTIRS A Foriers - Ry
8790 b (B foy2ir |

What are the pre-requisites of successful
grievance handling procedure ? ‘
w3 @ad iHife el elfemm simmiesiaT
T

Discuss the role of ILO in industrial
relations.

Sl NS TS L0 S S
91|

Answer any four of the following : 10x4=40

W@Wﬁmmmﬁﬁamﬁwg

(1)

Explain various approaches to industrial
relations.

i siedifes Rifon STOAIMTRIR 1=y} < |
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(@)

(iii) -

(i)
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Briefly explain the statutory rnachiner
for settlement of industrial dispute in
India. ‘
OIeS Srifals [am Fevifes f[ftas ez
BT I |

Explain the working of ‘Joint
Management Councils’. Why could not

they be successful ? 5+5=10
(Y TR 7T - g 9| 7T
(OSTEICE e 2] 2/ T9 2

Discuss various measures to strengthen

the trade union movement in India.

What new role trade union need to play

for their survival and popularity ?
6+4=10

SRS 3 HK S ¥ 59 (Faw

[fen swessEs e e 761 @S

RATAICE (OSSN S (SOl Bl
o Tor S il Ffaa wfaa e

Define indiscipline in the context of
employer-employee relations. Discuss

the causes of industrial indiscipline.
4+6=10

IR T e *RESTel
el 9 | s %R LTI IREIIS SHICEnoal
el
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(vi) What are various provisions of safety of
workers under the Factories Act, 1948 ?
Explain.

IR B, $38b-7 GfiTe @i FoTq
fFRiere™ RieT Rz & R g <11

(vii) What are the néeds and importance of

human resource management in
industrial relation ? Discuss.

ARG 7S] T eagopayz & 16 2 S 31 |

(viii) Explain the following provisions un@er
the Industrial Employment (Standing

Orders) Act, 1946 : 5+5=10
Tifere RN (FA! S B3, $o8u3
wiis oo fral Rz i 4 ¢
(@) Penalties and Procedures
(Sl ©i o f)
(b) Powers to Make Rules
(e eterzms o)
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